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1 A (z,y)olA g =7}

Fz,y) = 1000(1 + 22 + y*)e " ¥ (m)

A & o2 el slck o Al B2 HAVEE (0,99 o, A4 sk
e 02w HRe A0l 91XE 1EOE u= ait+ b PR AR oF Bt u
7H S E Y o A4 0,69 ZHe FokAL.

2 f(z,y,2) = ycos(zz) + zsin(zy)d of H P<
Wero R W RAS DS (P)°] S F5142.

3 AT {(z,y,2) € R? | 2%y — y?2 + 22 = =3} & (2,-1,1)
AL, (2, -1, 1)1 Fgrao] EAbtaL ot o el R4

ol gto] TaAL
(11.52 9] 3HA| 611 9] ZAxte} vlas] HAQ.)

4 HY {(0.9,2) € R? | 20z +yz - vy = 10} BE Aol 4] HERALS /A= Fwigo]
el glrk. o] 29 919] A (a.b,0)H FHHO] W n = (2,1,2)] 2L 1,
A (a,b,0)2 B T34 2

(b) oA HulZ Als f2(0,0)9F f,(0,0)7F A= 2ok 1 gts 7ot

(c) ele] HAME u = (a, ol deh Duf(0,0)7h EAFE ZHakn, 1 ke
T2 (RE: B8 A8517, 5 7k S Dejshia.)

(d) ol 2AE 2 ™ 54 Duf(P) = Vf(P)-us A& = 8l olf= FAUIA
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